Year 2 Autumn Maths Block Assessments:
Multiplication and Division

o Starting with 4, count in 10s.
What are the next 3 numbers?
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° Starting with 26, count in 2s.
What are the next 3 numbers?
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° Ring the multiples of 10:

5 15 20 32 39 50 53

2 marks

o Ring the multiples of 2:

5 8 11 17 23 31 34

2 marks
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How many 10p coins do | need to pay for the scissors?
—
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How many 10p coins do | need to pay for the pen?
—
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How many 2p coins do | need to pay for the rubber?
—
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How many 2p coins do | need to pay for the pencil?
~— 4 marks

° Double each of these numbers:
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The fruits are on sale at half-pricel
Write the new prices on the blank labels.
3 marks
Total /20 = [ ]
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